EPOC-2: CRYPTREC' 01 ROM
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"EPOC-2" = OU

(EUROCRY PT’ 98)

c=g"h" modn,
n= p°Q.

OW <—» FACT(n)

+ ROM

(CRYPTO' 99)

OW = [IND-CCAZ2
ROM

FACT(n) + ROM => EPOC-2: IND-CCAZ2.



CREC'01

1. h
ZInZ);
hOER( ) —_— hzgandn,
h=h, modn.
(NESSIE’'01, EUROCRY PT’98)
2. T (hLen)
r|> 2k + 32. |1 |= 2k + const.
k=|plql, —— const > 1.
n=p°q. j

(NESSIE’ 01)

http://info.isl.ntt.co.jp/epoc/nessie/index-j.html or

EUROCRY PT’ 98 http://info.isl.ntt.co.jp/

Ir > 3K
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[Adversary’sreal view]

P (Z) =Prlo < {0O3""r < {0***°™ : Z = o +nr mod ord(g)],

where c=g°h'(=g7™).

[Simulation view]

p"™(Z) =Pr[z<«,[0,...,n*=1]: Z = zmod ord(g)],
where c=g".

p I(Z*) 21(1_£j(1_ congt- j
p=(z) 2 N 270" +1




EPOC-2 FACT (

Aepoc: (t’qG’qH’qD’g)_break’
B": (tg,&5)—bresk where
¢ 1:B =1+ (qG + qH ) Tgcd,n + quH (TEnc,q T Tgcd,n)’

0c, = %(1— 2 %) (- 27 ),

pgm(Z*) S 1( 1)( 1 j 1 _3k+1
= >—|1-— 1| 1- >—|1-2
preal (Z) 2 N 2const -I-l 3( )
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